Standard form

Multiplying standard form:

Calculate the following and put the answer in standard form:
a) 2x10% x 4x10° =

b) 1x 10% x 6 x 103 =

c) 1.3x10% x 7x10% =

d) 42x10% x 5x1012=

e) 6.5x10% x 3.8x10° =

f) 1.2x10% x 3x10%° =

g) 3.5%x 107 x 4.2x 1013 =

h) 9.12 x 10?2 x 2.5 x 10° =

i) 8.55x 10'° x 1.8 x 10%> =

j) 7.22x10° x 8.1x 10° =
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Standard form

Dividing standard form:

Calculate the following and put the answer in standard form:
k) 6x 107 + 2x103 =

) 9% 108 + 3x102 =

m)8 x 1011 + 4 x 10* =

n) 7x 102 + 2x10% =

0) 6.4 x 10% + 3.2x10° =

p) 2.5 10° + 5x10* =

q) 1.6 x 10° ~ 8 x 107 =

) 2.61x 10%3 + 9 x 10'? =

s) 1.25x 10% +~ 25x 10%° =

t) 8.44 x10°% + 2.11 x 1016 =
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